coinbase

Transaction report for Ilya Borisovs

You can use this transaction report to inform your likely tax obligations. For US customers, Sells, Converts, Rewards Income, Coinbase Earn transactions, and Donations are taxable events. For final tax obligations, please consult your tax advisor.

Date range	Filter	Customer
From: 2021-01-01T00:00:00Z	Type: all	shvembldr@gmail.com
To: 2022-01-01T00:00:00Z	Asset: ETH	5b40739e8187d90bc99e088c

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-05- 25T17:24:39Z	Send	ETH	1.4333581	EUR	2087.92			Sent 1.4333581 ETH to 0x4666Fd1f89576e2D6fb3f2ecEc5eeFD3E1BA6B59
2021-05- 28T20:08:51Z	Receive	ETH	5.0	EUR	2051.17			Received 5.0000 ETH from an external account
2021-07- 26T05:25:38Z	Sell	ETH	5.02603746	EUR	1967.12	€9,886.80	€9,739.49	Sold 5.02603746 ETH for €9,739.49 EUR
2021-07- 27T11:39:33Z	Receive	ETH	6.5	EUR	1914.74			Received 6.5000 ETH from an external account
2021-07- 27T11:47:30Z	Convert	ETH	6.5	EUR	1914.69	€12,316.49	€12,445.48	Converted 6.5000 ETH to 0.38407979 BTC
2021-07- 28T06:05:05Z	Receive	ETH	5.0	EUR	1945.09			Received 5.0000 ETH from an external account

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-07- 28T17:35:10Z	Receive	ETH	5.0	EUR	1930.38			Received 5.0000 ETH from an external account
2021-08- 01T20:07:37Z	Sell	ETH	10.0	EUR	2238.16	€22,381.64	€22,048.15	Sold 10.0000 ETH for €22,048.15 EUR
2021-08- 02T04:27:08Z	Receive	ETH	3.0	EUR	2159.12			Received 3.0000 ETH from an external account
2021-08- 06T11:26:50Z	Receive	ETH	80.0	EUR	2324.32			Received 80.0000 ETH from an external account
2021-08- 06T12:02:09Z	Sell	ЕТН	80.0	EUR	2307.80	€184,623.9 0	€181,873.00	Sold 80.0000 ETH for €181,873.00 EUR
2021-08- 07T06:12:31Z	Receive	ETH	7.0	EUR	2526.82			Received 7.0000 ETH from an external account
2021-08- 07T14:20:43Z	Sell	ETH	10.0	EUR	2607.97	€26,079.66	€25,691.07	Sold 10.0000 ETH for €25,691.07 EUR
2021-08- 07T23:15:43Z	Receive	ETH	90.0	EUR	2638.84			Received 90.0000 ETH from an external account
2021-08- 07T23:29:56Z	Sell	ETH	90.0	EUR	2631.10	€236,799.4 1	€233,271.10	Sold 90.0000 ETH for €233,271.10 EUR

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-08- 09T06:14:00Z	Receive	ETH	10.0	EUR	2483.46			Received 10.0000 ETH from an external account
2021-08- 09T07:31:26Z	Receive	ETH	10.0	EUR	2482.59			Received 10.0000 ETH from an external account
2021-08- 11T07:31:31Z	Sell	ETH	20.0	EUR	2748.05	€54,961.06	€54,142.14	Sold 20.0000 ETH for €54,142.14 EUR
2021-08- 11T15:42:39Z	Receive	ETH	40.0	EUR	2775.96			Received 40.0000 ETH from an external account
2021-08- 11T15:52:34Z	Sell	ETH	40.0	EUR	2753.03	€110,121.14	€108,480.34	Sold 40.0000 ETH for €108,480.34 EUR
2021-08- 14T05:58:39Z	Receive	ETH	10.0	EUR	2798.14			Received 10.0000 ETH from an external account
2021-08- 14T06:05:19Z	Sell	ETH	10.0	EUR	2782.20	€27,822.02	€27,407.50	Sold 10.0000 ETH for €27,407.50 EUR
2021-08- 14T20:11:40Z	Receive	ETH	130.0	EUR	2749.84			Received 130.0000 ETH from an external account
2021-08- 14T20:42:16Z	Sell	ETH	120.0	EUR	2722.73	€326,727.77	7 €321,859.53	Sold 120.0000 ETH for €321,859.53 EUR
2021-08- 15T19:53:12Z	Receive	ETH	20.0	EUR	2719.58			Received 20.0000 ETH from an external account

Timestamp	Transaction Type	Asset	t Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-08- 16T06:02:24Z	Sell	ETH	30.0	EUR	2792.17	€83,765.03	8 €82,516.56	Sold 30.0000 ETH for €82,516.56 EUR
2021-08- 17T04:43:21Z	Receive	ETH	10.0	EUR	2719.58			Received 10.0000 ETH from an external account
2021-08- 17T19:32:31Z	Receive	ETH	15.0	EUR	2674.73			Received 15.0000 ETH from an external account
2021-08- 18T14:01:45Z	Receive	ETH	70.0	EUR	2611.37			Received 70.0000 ETH from an external account
2021-08- 18T18:34:00Z	Receive	ETH	200.0	EUR	2630.55			Received 200.0000 ETH from an external account
2021-08- 19T09:40:19Z	Sell	ETH	89.85856069	EUR	2559.58	€230,000. 00	€226,573.00	Sold 89.85856069 ETH for €226,573.00 EUR
2021-08- 19T14:40:47Z	Receive	ETH	25.0	EUR	2604.01			Received 25.0000 ETH from an external account
2021-08- 19T19:12:17Z	Sell	ETH	93.05393058	EUR	2686.61	€250,000. 00	€246,275.00	Sold 93.05393058 ETH for €246,275.00 EUR
2021-08- 20T05:42:29Z	Sell	ETH	109.41388089	EUR	2741.88	€300,000. 00	€295,530.00	Sold 109.41388089 ETH for €295,530.00 EUR
2021-08- 20T15:24:50Z	Sell	ETH	27.67362784	EUR	2791.56	€77,252.61	€76,101.55	Sold 27.67362784 ETH for €76,101.55 EUR

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-08- 21T09:26:42Z	Receive	ETH	400.0	EUR	2807.93			Received 400.0000 ETH from an external account
2021-08- 21T09:35:50Z	Sell	ETH	300.0	EUR	2789.40	€836,819.3 9	€824,350.78	Sold 300.0000 ETH for €824,350.78 EUR
2021-08- 22T20:49:25Z	Receive	ETH	20.0	EUR	2690.46			Received 20.0000 ETH from an external account
2021-08- 23T05:05:18Z	Receive	ETH	120.0	EUR	2855.66			Received 120.0000 ETH from an external account
2021-08- 23T05:35:53Z	Sell	ETH	140.0	EUR	2826.69	€395,736.6 5	€389,840.17	Sold 140.0000 ETH for €389,840.17 EUR
2021-08- 23T20:33:08Z	Receive	ETH	300.0	EUR	2821.26			Received 300.0000 ETH from an external account
2021-08- 26T07:49:54Z	Receive	ETH	60.0	EUR	2649.32			Received 60.0000 ETH from an external account
2021-08- 26T12:28:22Z	Send	ETH	35.002184	EUR	2651.21			Sent 35.002184 ETH to 0xD02e8F5f6F481B2A0536Bfb2B251b955E4C10C60
2021-08- 28T08:23:00Z	Sell	ETH	200.0	EUR	2733.54	€546,707.6 1	€538,561.67	Sold 200.0000 ETH for €538,561.67 EUR

Page 6/10

Timestamp	Transaction Type	Asset	t Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-08- 30T06:54:42Z	Send	ETH	10.001239	EUR	2689.73			Sent 10.001239 ETH to 0x53313A35A844d13a6D03cBD2378A0c631f017719
2021-08- 30T20:54:05Z	Sell	ETH	100.0	EUR	2813.46	€281,345.9 5	€277,153.90	Sold 100.0000 ETH for €277,153.90 EUR
2021-09- 01T17:25:58Z	Sell	ETH	100.0	EUR	3120.54	€312,054.0 3	€307,404.42	Sold 100.0000 ETH for €307,404.42 EUR
2021-09- 03T09:27:42Z	Receive	ETH	100.0	EUR	3318.42			Received 100.0000 ETH from an external account
2021-09- 03T09:38:03Z	Sell	ETH	114.996577	EUR	3304.41	€379,995.6 8	6 €374,333.74	Sold 114.996577 ETH for €374,333.74 EUR
2021-09- 03T20:57:46Z	Receive	ETH	25.0	EUR	3296.22			Received 25.0000 ETH from an external account
2021-09- 03T21:12:03Z	Sell	ETH	25.0	EUR	3289.81	€82,245.29	€81,019.84	Sold 25.0000 ETH for €81,019.84 EUR
2021-09- 04T17:11:28Z	Receive	ETH	110.0	EUR	3267.77			Received 110.0000 ETH from an external account
2021-09- 04T19:28:39Z	Sell	ETH	110.0	EUR	3218.30	€354,013.2	1 €348,738.41	Sold 110.0000 ETH for €348,738.41 EUR

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-09- 04T21:00:19Z	Receive	ETH	10.0	EUR	3267.99			Received 10.0000 ETH from an external account
2021-09- 06T05:20:24Z	Receive	ETH	10.0	EUR	3301.81			Received 10.0000 ETH from an external account
2021-09- 07T04:46:25Z	Receive	ETH	20.0	EUR	3309.04			Received 20.0000 ETH from an external account
2021-09- 08T15:19:53Z	Receive	ETH	20.0	EUR	2886.87			Received 20.0000 ETH from an external account
2021-09- 08T18:07:28Z	Receive	ETH	50.0	EUR	2946.74			Received 50.0000 ETH from an external account
2021-09- 15T11:25:08Z	Receive	ETH	10.0	EUR	2890.31			Received 10.0000 ETH from an external account
2021-09- 16T06:50:14Z	Sell	ETH	70.0	EUR	3062.61	€214,382.37	7 €211,188.07	Sold 70.0000 ETH for €211,188.07 EUR
2021-09- 18T06:25:51Z	Receive	ETH	25.0	EUR	2979.04			Received 25.0000 ETH from an external account
2021-09- 19T07:42:17Z	Receive	ETH	15.0	EUR	2928.05			Received 15.0000 ETH from an external account

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-09- 19T14:46:57Z	Send	ETH	0.00392691	EUR	2864.87			Sent 0.00392691 ETH to 0x7feEfCdF63CB71Ee9c629A26918832c5E6788A25
2021-09- 20T05:21:24Z	Receive	ETH	10.00393	EUR	2740.86			Received 10.00393 ETH from an external account
2021-09- 21T11:49:32Z	Receive	ETH	30.0	EUR	2610.23			Received 30.0000 ETH from an external account
2021-09- 22T16:40:53Z	Receive	ETH	60.0	EUR	2589.97			Received 60.0000 ETH from an external account
2021-09- 28T05:07:53Z	Receive	ETH	10.0	EUR	2530.36			Received 10.0000 ETH from an external account
2021-09- 30T05:09:09Z	Receive	ETH	40.0	EUR	2609.91			Received 40.0000 ETH from an external account
2021-10- 02T20:55:28Z	Sell	ETH	240.00000309	EUR	2935.12	€704,428.9 5	€693,932.96	Sold 240.00000309 ETH for €693,932.96 EUR
2021-10- 06T16:38:00Z	Receive	ETH	50.0	EUR	3102.66			Received 50.0000 ETH from an external account
2021-10- 06T16:47:58Z	Sell	ETH	50.0	EUR	3090.50	€154,525.0 7	€152,222.65	Sold 50.0000 ETH for €152,222.65 EUR
2021-10- 21T06:11:26Z	Receive	ETH	51.0	EUR	3577.88			Received 51.0000 ETH from an external account

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-10- 21T06:20:33Z	Sell	ETH	50.0	EUR	3552.37	€177,618.30	€174,971.79	Sold 50.0000 ETH for €174,971.79 EUR
2021-10- 21T20:20:24Z	Receive	ETH	120.0	EUR	3501.00			Received 120.0000 ETH from an external account
2021-10- 21T20:35:04Z	Sell	ETH	120.0	EUR	3482.72	€417,926.10	€411,699.00	Sold 120.0000 ETH for €411,699.00 EUR
2021-11- 01T05:18:46Z	Receive	ETH	19.0	EUR	3665.80			Received 19.0000 ETH from an external account
2021-11- 01T05:42:58Z	Sell	ETH	20.0	EUR	3655.08	€73,101.69	€72,012.47	Sold 20.0000 ETH for €72,012.47 EUR
2021-11- 03T21:16:10Z	Receive	ETH	30.0	EUR	3982.61			Received 30.0000 ETH from an external account
2021-11- 03T21:36:22Z	Sell	ETH	30.0	EUR	3954.65	€118,639.61	€116,871.88	Sold 30.0000 ETH for €116,871.88 EUR
2021-11- 07T14:47:54Z	Receive	ETH	400.0	EUR	3994.78			Received 400.0000 ETH from an external account
2021-11- 07T15:01:12Z	Sell	ETH	400.0	EUR	3953.12	€1,581,246. 72	€1,557,686.14	Sold 400.0000 ETH for €1,557,686.14 EUR

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-11-	Receive	ETH	1.0	EUR	3588.13			Received 1.0000 ETH from an external account

100 Pine Street, Suite 1250 San Francisco, CA 94111

+1 888 908-7930

support.coinbase.com

Page 10/10

Coinbase, Inc.

27T21:03:09Z